Radiochemistry #7 (Q & A) 2017.6.7

Questions & Answers

(1) Among the following radiation detectors, (a) select all detectors suitable for
detection of beta-rays, and (b) select all detectors which can analyze energy of
gamma-rays: ionization chamber, Geiger-Miiller counter, Nal (TI), ZnS (Ag), liquid
scintillator, Ge detector.
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A. (a)ionization chamber, Geiger-Miiller counter, and liquid scintillator.

(b) Nal (TI) and Ge detectors

(2) Calculate the effective dose for the case where the equivalent dose for thyroid
amounts to 50 mSv due to internal exposure by iodine-131. = 73 131 12X HWNEB
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A. The tissue weighting factor for thyroid is 0.04 according to the latest ICRP
recommendation in 2007. The effective dose is therefore, 50 mSv X 0.04 = 2 mSv.
This means that 50 mSv equivalent dose of radiation only on the thyroid is considered

to have the same risk of cancer as in the case of 2 mSv full-body exposure.



